4 /\
Synergy Global Technology Inc
‘\_/ www. RackmountMart.com

Assembly Instructions

Open Frame Swing-Out

Part Numbers:
WR1208-S
WR1209-S

Toll Free: 1-888-865-6888
Tel: 510-226-8368 Fax: 510-226-8968
Emall: sales@RackmountMart.com




/Tools needed:

3/8” Wrench Power Drill

Philips Head ScrewDriver

[e o=

What's in the box?
** You will need to supply your own mounting

hardware

28 s ee e ve s er s ws

]

@
(]

{

Nylock Nut

s

Upper Stop Bracket w/Latch Lower Stop Bracket

Swing-Out Brace
QTY-2

6-32 Screw 10-32 Screw Black Cap

Qry-4 Qry-14 Qry-4 /

Front Angled Brace
QTY -2

Rear Angled Brace
QTY -2

QTY-1




Step 1:

10-32 Nylock Nut

10-32 Cross Head Screw

Step 2:

Install the MAIN FRAME into the wall stud as shown above.
For added stability we recommend installing hardware
through the slots in the back channel.

** Mounting Hardware Not Included **

/




10-32 Screw

Step 4:

16” on center

** Mounting Hardware Not Included **

-
T

=

/
XX



Step 5:

L]
7 .
L]
L3
Swing gate open
i
L2
Step 6:
) S = = ) =
° 10-32 Nylock Nut
- A . s
; [ |
© e
]
|
|
!
= = = = : 7 E
o = S »
e 10-32 Screw
N (]
e




Step 7:

Step 8:

B oo coocoocoeo oo oo oocooooey 88
o] @
25 80 s 00 u 000 200008 600006000508 800 000000

6-32 Screw




6-32 Screw

/Step 9
Swing Gate

Closed

Flat Washer

Step 10:

Round Cap

3-4”




/

To latch and unlatch the gate:

Copyright 2014 Synergy Global Technology Inc. All rights reserved.

/




